



09/14/2021 09:00 AM | Semi A Load 09/14/2021 02:00 PM | Travel to Las Vegas 09/25/2021 05:00 PM | Event

09/26/2021 08:00 AM | Strike 09/28/2021 08:00 AM | Travel to LA PO: Shipping Address: Red Rock Hotel Las Vegas Mindy Weiss

232 South Beverly Drive Suite 200 Beverly Hills, CA CA

Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
Rehearsal Dinne	er - Fertitta Residence				
	Interior Ceiling Drape - Hunter Green Velvet for a 30' x 60' tent	1	\$8,750.00	Т	\$8,750.00
	Perimeter Drape - Hunter Green Velvet for a 30' x 60' Tent	1	\$6,900.00	Т	\$6,900.00
	Perimeter Valance - Hunter Green for 30' x 60' tent	1	\$775.00	Т	\$775.00
	Gazebo Drape - Champagne Velvet approx 300' x 12'H and Valance	1	\$5,200.00	Т	\$5,200.00
III	Florence Dining Table - White Wash 10' x 48"	6	\$650.00	Т	\$3,900.00
	Carmel Curved Bar - 6'L Bar - Icon - Curved 6' - Blush Velvet Natural Wood Top with Blush Velvet Channeled Front and Gold Footrest 6'W x 30"L X 42"H	2	\$1,350.00	Т	\$2,700.00
	London Barback - Gold 32"W x 14.5"L x 99"H - Custom Base Color Upon Request	4	\$250.00	Т	\$1,000.00
	Table Runner - Blush Velvet 420" x 16"W	2	\$350.00	Т	\$700.00
	Napkin - White Cotton w. Crochet Border	35	\$5.75	Т	\$201.25
	Napkin - Blush Cotton w. PomPom Border	35	\$5.75	Т	\$201.25
	Florence Dining Table - Oval 10' x 48" x 30" for Food station inside gazebo 10'W x 4'L x 31"h	1	\$650.00	Т	\$650.00
	REUSED: Moscow Club Chair	4	\$0.00	Т	\$0.00
	REUSED: Moscow Sofa	1	\$0.00	Т	\$0.00

Description		Qtty	Price		Total
	Moscow Coffee Table - Mirror Top 48"W x 24"L x 17"H	2	\$225.00	Т	\$450.00
T	Madrid Accent Table - Giusti Glass Top 16.6"W x 16.5"L x 21"H	2	\$100.00	Т	\$200.00
	Ottoman Pod 18"RND x 17"H - Cover Color Upon Request	4	\$45.00	T	\$180.00
	Accent Pillows	12	\$25.00	Т	\$300.00
	Total Rehe	arsal Dinner	- Fertitta Reside	nce	\$32,107.50
Bridal Room - Ve	eranda C				
	Perimeter Drape - White Chiffon w. Backing to drape the room and create 'changing rooms' for the bridesmaids	1	\$5,550.00	Т	\$5,550.00
The	Dubai Sofa 8'L White boucle 90"W x 36"L x 30" H	2	\$500.00	T	\$1,000.00
	Paris Coffee Table - Chrome Mirror Top 36"W x 21"W x 17"h	2	\$200.00	Т	\$400.00
	Dubai Club Chair WHITE BOUCLE	4	\$250.00	Т	\$1,000.00
	Ottoman Pod 18"D 18"RND x 17"H - Cover Color Upon Request	4	\$45.00	Т	\$180.00
	Accent Pillows	10	\$25.00	Т	\$250.00
	Spring Frame Accent Table - Glass Top for inside each of the changing rooms 19"RND x 21"H	4	\$100.00	T	\$400.00
	Hollywood - White W/ Silver Base for inside each of the changing rooms 16"Diam x 18"H	4	\$60.00	Т	\$240.00
	Wall Mirror - Nice 30"W x 70"H 30"W x 70"H	4	\$300.00	Т	\$1,200.00
		Total Brid	al Room - Verand	a C	\$10,220.00
Bridal Room - Ve	eranda Main (Round Room)				
	Perimeter Drape - White Chiffon w. Backing to drape the room and create 'changing rooms' for the Kelly Ann, Jill, and Tori	1	\$6,750.00	Т	\$6,750.00

Description		Qtty	Price		Total
	Savannah Oversized Mirror w. Moulding 02 Silver Frame to create a 'wall of mirrors' around a platform for photos of bride 108"W x 88"H	3	\$650.00	Т	\$1,950.00
	Sofas - Dubai - Fucshia 8' 90"W x 36"L x 30" H	2	\$500.00	Т	\$1,000.00
	Dubai Club Chair WHITE BOUCLE 42"L x 33"W x 30"H	4	\$350.00	Т	\$1,400.00
	Paris Coffee Table - Silver w. Mirror mirror top 36"W x 21"W x 17"h	2	\$200.00	T	\$400.00
	Ottoman Pod 18"D 18"RND x 17"H - Cover Color Upon Request	4	\$45.00	Т	\$180.00
	Accent Pillows	10	\$25.00	Т	\$250.00
	Hollywood Ottomam - White w. Silver Base for inside the changing rooms 16"Diam x 18"H	2	\$60.00	Т	\$120.00
	Accent Table - Round w. Chrome Stand for inside the changing rooms 20"Diam x 30"H	2	\$100.00	Т	\$200.00
	Wall Mirror - Nice 30"W x 70"H 30"W x 70"H	2	\$300.00	Т	\$600.00
	Total Bridal Room	- Veranda I	Main (Round Roc	om)	\$12,850.00
Grooms Room -	Veranda B & A				
	Perimeter Drape - White Chiffon w. Backing	1	\$5,550.00	Т	\$5,550.00
	Wall Mirror - Nice 30"W x 70"H 30"W x 70"H	4	\$300.00	Т	\$1,200.00
	Moscow Sofa 8'L - Ivory Velvet 92â 92â 8 â 8 â 8 â 8 â 8 â 8 â 8 â 8	4	\$550.00	T	\$2,200.00
	Paris Coffee Table - Chrome 36"W x 21"W x 17"h	4	\$200.00	Т	\$800.00
	Moscow Club Chair - Ivory Velvet	4	\$250.00	T	\$1,000.00

Description		Qtty	Price		Total
	Ottoman Pod 18"D	12	\$45.00	Т	\$540.00
	18"RND x 17"H - Cover Color Upon Request				
	Accent Pillows	20	\$25.00	Т	\$500.00
	London Bar 6'L - Off White	1	\$650.00	Т	\$650.00
	74" 1/2 W x 31"L x 46"1/4 H - Color Upon Request				
	Munich Barback - Chrome	1	\$250.00	Т	\$250.00
	47" x 14" x 90" - Base Color Upon Request				
	Tot	tal Grooms Ro	oom - Veranda B	& A	\$12,690.00
Guest Arrival - E	Entry (Casino Level)				
	Perimeter Drape - White Chiffon w. Backing 40'W x 18'H; to block off the side areas	1	\$1,400.00	Т	\$1,400.00
	Total G	uest Arrival -	Entry (Casino Le	vel)	\$1,400.00
Guest Arrival - N	Aiddle Landing				
	Perimeter Drape - White Chiffon w. Backing 100' x 16'H; to drape off the first landing where guests transition to the next escalators	1 ne	\$2,100.00	Т	\$2,100.00
	White Black-Out Drape	1	\$1,500.00	Т	\$1,500.00
	to cover the windows behind the drape				
		tal Guest Arri	val - Middle Land	ing	\$3,600.00
Guest Arrival - N	Main Landing (Musicians)				
	Perimeter Drape - White Chiffon w. Backing	1	\$2,100.00	Т	\$2,100.00
	Pullback Drape - White Chiffon	1	\$4,500.00	Т	\$4,500.00
	to hang from the upper balustrade down to the casino floor level, creating entrance pullbacks				
	Total Guest A	Arrival - Main	Landing (Musicia	ns)	\$6,600.00
Hallways - 5th F	loor				
	Perimeter Drape - White Chiffon 20'H	1	\$90,000.00	Т	\$90,000.00
	Ceiling Treatment for CrossPoint of Hallway	1	\$5,600.00	Т	\$5,600.00
	layered sheer fabric to create a center point overhead of the musician				
		Total	Hallways - 5th Fl	oor	\$95,600.00
Ceremony - Sun	nmerlin				
	Entrance Arches for Ballroom Doors (Exterior Wall) Approx 18'W x 20'H for each doorway The center bridal arch will be more detailed then the guest entrances Finished in smooth semi gloss off white	3	\$37,250.00	T	\$111,750.00

Description		Qtty	Price		Total
	Arches for Ballroom Doors (Interior Wall) Approx 18'W x 20'H for each doorway The Center bridal arch will be more details then the guest entrances Finished in a smooth semi gloss off white	3	\$37,250.00	Т	\$111,750.00
	Ceiling Fabric - Partial Ceiling 124'L x 100"W (6) panels	1	\$24,500.00	Т	\$24,500.00
	Truss Covers - IVORY to cover all trussing because of the partial ceiling design per fire marshal	1	\$12,500.00	Т	\$12,500.00
	Perimeter Fabric Walls - Off White Approx 100' x 124' x 21'H Off White Velvet Flat Wall Draping to create the perimeter of the ceremony.	1	\$35,000.00	Т	\$35,000.00
	Musicians Area - Off White Sheer Drape	1	\$2,400.00	Т	\$2,400.00
	Aisle Overhead Mirror Arcs Approx 70'L x 24"W x 12"D	6	\$70,000.00	Т	\$420,000.00
	Alter Overhead Mirror Arcs (1) 50' x 24"W x 12"D (1) 44' x 24"W x 12"D (1) 40' x 24"W x 12"D	3	\$50,000.00	Т	\$150,000.00
	Wall Paneling for Floral For behind the ceremony Stage 50' x 15'H	1	\$42,000.00	Т	\$42,000.00
	Reflective Mirror Aisle & Subfloor Approx 12'W x 120'L	1	\$73,000.00	Т	\$73,000.00
		Total Ce	remony - Summe	rlin	\$982,900.00
Cocktails - Cha	rleston				
	Perimeter Drape - White Lame w. Silver Sparkle Approx 78' x 112' x 16'H	1	\$15,000.00	Т	\$15,000.00
	Ceiling Fabric - Partial Ceiling (Pleated) 114' x 100"W (5) panels	1	\$15,000.00	Т	\$15,000.00
	Perimeter Valance - White Dupioni 78" x 112" x 24"H	1	\$2,400.00	Т	\$2,400.00
	70 X 112 X 24 11				
	Truss Covers - IVORY to cover all trussing because of the partial ceiling design per fire marshal	1	\$10,750.00	T	\$10,750.00
	Truss Covers - IVORY to cover all trussing because of the partial ceiling design per fire	1 4	\$10,750.00	T	
	Truss Covers - IVORY to cover all trussing because of the partial ceiling design per fire marshal Flat Fabric Ceiling Inserts - White/Silver Linen 16' x 16' recessed flat ceiling surrounded by 24" floral border by the				\$11,800.00
	Truss Covers - IVORY to cover all trussing because of the partial ceiling design per fire marshal Flat Fabric Ceiling Inserts - White/Silver Linen 16' x 16' recessed flat ceiling surrounded by 24" floral border by the florist Tiered Pearl and Chandeliers 60"D Tiered Chandeliers from ceiling to floor	4	\$2,950.00	T	\$10,750.00 \$11,800.00 \$104,000.00 \$115,200.00

Description		Qtty	Price		Total
	New York Bar 6'L Custom Channeled front paneling Frame in white	4	\$2,450.00	Т	\$9,800.00
	6'W x 31"L x 42"H - Color Change Upon Request				
	Nantucket Barback - White 5'5"W x18"L x 5'H 5' x 18" x 5' H - Custom Color Upon Request	4	\$250.00	T	\$1,000.00
	Curved Barback Ends - NEW Half Circle 36"D x 5'H barback ends to complete the center barback with 4 shelves	2	\$1,250.00	Т	\$2,500.00
	Las Vegas Half Round Booth w. Acrylic Legs (2pcs) includes 10 pillows 5'4 W x11.2"L x 2.3"H	12	\$750.00	Т	\$9,000.00
	Custom Cover for Las Vegas Booth & Pillows Off White Boucle	12	\$2,850.00	Т	\$34,200.00
	Additional Accent Pillows	28	\$50.00	Т	\$1,400.00
	Coffee Tables - Nesting (2pcs) Silver Leaf base and Glass top 42"Diam x 18"H - 31.25" Diam x 16"H - Can be custom painted upon request	12	\$1,200.00	Т	\$14,400.00
	Ottomans - Standard Pod	48	\$125.00	Т	\$6,000.00
	18"RND x 17"H - Cover Color Upon Request				
	Tablecloth - Stand Up 36"D x 40"H	6	\$450.00	Т	\$2,700.00
	Tokyo Communal Table 10'L to be used with table cloth; no mirror needed 10'W x 22"L x 42"H - Frame Color Upon Request	6	\$0.00	Т	\$0.00
	Tablecloth - Communal Stand Up 10'L **Fabric material and price will vary depending on stock availability** Thick Weave Silver/White	6	\$550.00	Т	\$3,300.00
	Frankfurt Barstool - Channeled Boucle	60	\$100.00	Т	\$6,000.00
	with custom white legs to create barstool height 24â® ® w 22â® x 34â® B H				
		Total Co	ocktails - Charles	ton	\$390,450.00
Reception - Hally	way				
	Mirror Panel 12'H assembled in groups of (3) to create 10'W x 12'H mirror walls 42" x 12'H	15	\$1,250.00	Т	\$18,750.00

Description		Qtty	Price		Total
	Buenos Aires Sectional Sofa - White Sofas - Buenos Aires - 4pc Sectional - White Suede 10' 2" X 9' 6"	2	\$850.00	T	\$1,700.00
III	Beirut Coffee Table - Glass Top w, Chrome 40" x 24" x 19"	4	\$200.00	Т	\$800.00
	Ottoman Pod 18"D 18"RND x 17"H - Cover Color Upon Request	10	\$45.00	Т	\$450.00
	New York Bar 6'L Custom Channeled front paneling Frame in white 6'W x 31"L x 42"H - Color Change Upon Request	1	\$2,450.00	Т	\$2,450.00
	Munich Barback - Chrome 47" x 14" x 90" - Base Color Upon Request	1	\$250.00	Т	\$250.00
		Total Rece	ption - Outside Pa	tio	\$5,650.00
Reception - Red	Rock Ballroom				
	Ceiling Fabric - Partial Ceiling (Pleated) 80' x 100"W (9) Panels	1	\$32,000.00	Т	\$32,000.00
	Perimeter Fabric - White Italian Chiffon White with White Backing Approx 144' x 76' x 24'H	1	\$22,500.00	Т	\$22,500.00
	Perimeter Valance - White Dupioni 144' x 76' x 24"H	1	\$2,750.00	Т	\$2,750.00
	Truss Covers - IVORY to cover all trussing because of the partial ceiling design per fire marshal	1	\$24,000.00	Т	\$24,000.00
	Truss Covers - WHITE for JF to cover all trussing because of the partial ceiling design per fire marshal	1	\$5,500.00	Т	\$5,500.00
	Criss-Cross Swags - White Italian Chiffon Sections of 5'W Creating a soft, 'criss-crossed' swag texture for the left and right side of room and behind the stage	1	\$15,500.00	Т	\$15,500.00
	NEW Crystals Rings for Reception Area (158) individual rings with varied length crystals placed overlapping one another to cover more area and create the 'dripping' crystal effect from the clients inspirational pictures	1	\$570,000.00	Т	\$570,000.00
	Dance Floor - White High Gloss with Silver Mirror Details	1	\$6,900.00	Т	\$6,900.00
			40.750.00		¢12.750.00
	NEW Straight Bar 8'L - White 'Corrugated' Front Paneling Design with Silver Footrest and White Top	5	\$2,750.00	Т	\$13,750.00

Description		Qtty	Price		Total
	Madrid Barback - SILVER	6	\$275.00	Т	\$1,650.00
	40"W x 15"L x 8'H - Base Color Upon Request				
	Straight Barback 8'L - Silver	2	\$250.00	Т	\$500.00
	8'W x 18"L x 8'7"H - Frame Color Upon Request				
	Monaco Straight Banquette - White Channeled 6'L 6'W x 39"L x 30"H	4	\$300.00	Т	\$1,200.00
	NEW Straight Banquette - White Channeled 6'L	4	\$1,750.00	Т	\$7,000.00
	Tablecloth - Round 72"D x 30"H White Texture Fabric Not Fitted **Fabric material and price will vary depending on stock availability	12	\$550.00	Т	\$6,600.00
	Tablecloth - Square 72" x 72" x 30"H White Texture Fabric Not Fitted **Fabric material and price will vary depending on stock availability	8	\$550.00	Т	\$4,400.00
	Tablecloth - Rectangle 8' x 48" x 30"H White Texture Fabric Not Fitted **Fabric material and price will vary depending on stock availability	10	\$650.00	Т	\$6,500.00
	Tablecloth - Round 84"D x 30"H White Texture Fabric Not Fitted **Fabric material and price will vary depending on stock availability	6	\$650.00	Т	\$3,900.00
	(Instock) Mirror Top - Square Beveled 72" X 72" Square 72" x 72" - 1/8" - Beveled	8	\$300.00	Т	\$2,400.00
	(Instock) Mirror Top - Rectangle Beveled 96" X 48" Rectangle 96" x 48" - 1/4" - Beveled	10	\$350.00	Т	\$3,500.00
	NEW Mirror Top - 84"D Round Beveled	6	\$1,950.00	Т	\$11,700.00
	Buenos Aires Console Table - Clear TBD for Service Stations 6'W x 18"L x 36" H	4	\$250.00	Т	\$1,000.00
	То	otal Reception -	Red Rock Ballro	om	\$750,250.00
After Party - Red	d Rock Ballroom				
	Perimeter Drape & Walls - Oatmeal Gauze Approx. 116' x 54' x 20'H	1	\$15,000.00	Т	\$15,000.00
	Ceiling Fabric - BROWN Lycra (Pleated) 110" x 88"W (4) Panels	1	\$12,000.00	Т	\$12,000.00
	Truss Covers - Black to cover all trussing because of the partial ceiling design per fire marshal	1	\$19,750.00	Т	\$19,750.00

Description		Qtty	Price		Total
	Draping for Stage - Black Velvet	1	\$3,500.00	Т	\$3,500.00
	Rope Ceiling Swag Bar Treatment 24'D 1 inch Cotton rope to create a swag effect	1	\$18,500.00	Т	\$18,500.00
	Rectangular Rope Ceiling Treatment 12' x 6' 1 inch Cotton rope to create a swag effect	6	\$4,800.00	Т	\$28,800.00
	Round Rope Chandelier 60"D	7	\$4,500.00	Т	\$31,500.00
	Cowboy Hat Pendants	54	\$275.00	Т	\$14,850.00
	Edison Light Bulb Drops	300	\$50.00	Т	\$15,000.00
	Madrid Chandeleir - Round 2 Tiers 33"W x 72"H - 47lb - 750 Watts	5	\$900.00	Т	\$4,500.00
	NEW Reclaimed Wood Panels see angles notes	14	\$4,200.00	Т	\$58,800.00
	NEW Wood Columns 14"W x 14"D 20'H	18	\$3,800.00	Т	\$68,400.00
	NEW Old Fashion Saloon Sconce	18	\$300.00	Т	\$5,400.00
	Reclaimed Wood Shelves - Large 32"L	5	\$75.00	T	\$375.00
	Reclaimed Wood Shelves - Medium 30"L	7	\$65.00	Т	\$455.00
	Reclaimed Wood Shelves - Small	6	\$45.00	T	\$270.00
	Fabric Stage Front 30"H Burlap material per requests from performers for a non solid stage front	1	\$1,600.00	T	\$1,600.00
	Reclaimed Wood Dance Floor with Hand Painted Details painted designs onto the wooden floor	1	\$10,500.00	Т	\$10,500.00
	Central Round Bar 18'D reclaimed wood with wood tops antique bronze frame	1	\$30,000.00	Т	\$30,000.00
	Boston Barback - Round antique bronze frame with reclaimed wood shelves 4'2"D x 7'2"H - Color Upon Request	1	\$1,250.00	Т	\$1,250.00
	Saddle & Saddle Stand 'Barstool'	8	\$900.00	Т	\$7,200.00
	Buenos Aires Sectional Sofa - 4pc	4	\$850.00	Т	\$3,400.00
	Custom Cover - Tan Leather for the buenos aires sectional sofa	4	\$1,100.00	T	\$4,400.00

	Qtty	Price		Total
Madrid Bench - Gold Metal Frame with DENIM Cover 54"W x 18"L x 21"H	4	\$350.00	T	\$1,400.00
Tokyo Accent Chair - Gold Frame with blush corduroy and cow hide print cushions 17"W x 20"L x 28"H	15	\$150.00	Т	\$2,250.00
Tokyo Accent Chair - Rose Gold with blush corduroy and cow hide print cushions 17"W x 20"L x 28"H	1	\$150.00	Т	\$150.00
Paris Coffee Table - Gold Frame RECLAIMED WOOD TOP 36"W x 21"W x 17"h	8	\$250.00	Т	\$2,000.00
Round Booth (2pc) to be reupholstered in channeled denim blue 6â® Ø 10"\\$\alpha\$3â\ Ø 2"\\$\alpha\$3\% Ø 3"H	4	\$1,850.00	Т	\$7,400.00
Manchester Round Wood Coffee Table 54"D mahogany wood color 54" Diam x 20"H	4	\$350.00	Т	\$1,400.00
Hamptons Sofa 10'L - Blush 10'W x 34"L x 33"H	4	\$650.00	Т	\$2,600.00
Santa Fe Coffee Table - Wood 6'L x 42"W 72"W x 42"L x 16"H	4	\$450.00	Т	\$1,800.00
Stockholm Club Chair - Wood Frame Custom Cover in denim fabric 29"W x 25"L x 30"H	6	\$425.00	Т	\$2,550.00
Beverly Hills Accent Chair - Gold custom cover in cowhide print 26"W x 32"L x 35"H	6	\$425.00	Т	\$2,550.00
Beverly Hills Side Chair - Blush 33"W x 34"L x 35"H	4	\$150.00	Т	\$600.00
Arabesque Accent Table - Antique Copper Top 17"Diam x 21.75"H	2	\$115.00	Т	\$230.00
Boston Accent Table - Mahogany & Brass Frame 1.3'W x 1.7'L x 3'H	2	\$115.00	Т	\$230.00
London Accent Table - Antique Gold Hourglass Small 18"Diam x 18"H	4	\$115.00	T	\$460.00
	with DENIM Cover 54"W x 18"L x 21"H Tokyo Accent Chair - Gold Frame with blush corduroy and cow hide print cushions 17"W x 20"L x 28"H Tokyo Accent Chair - Rose Gold with blush corduroy and cow hide print cushions 17"W x 20"L x 28"H Paris Coffee Table - Gold Frame RECLAIMED WOOD TOP 36"W x 21"W x 17"h Round Booth (2pc) to be reupholstered in channeled denim blue 68% 10"W 38% 2"X 38% 8"H Manchester Round Wood Coffee Table 54"D mahogany wood color 54" Diam x 20"H Hamptons Sofa 10"L - Blush 10"W x 34"L x 33"H Santa Fe Coffee Table - Wood 6"L x 42"W 72"W x 42"L x 16"H Stockholm Club Chair - Wood Frame Custom Cover in denim fabric 29"W x 25"L x 30"H Beverly Hills Accent Chair - Gold custom cover in cowhide print 26"W x 32"L x 35"H Beverly Hills Side Chair - Blush 33"W x 34"L x 35"H Beverly Hills Side Chair - Blush 33"W x 34"L x 35"H Boston Accent Table - Antique Copper Top 17"Diam x 21.75"H Boston Accent Table - Mahogany & Brass Frame 1.3"W x 1.7"L x 3"H London Accent Table - Antique Gold Hourglass Small	Madrid Bench - Gold Metal Frame with DENIM Cover 54"W x 18"L x 21"H Tokyo Accent Chair - Gold Frame with blush corduroy and cow hide print cushions 17"W x 20"L x 28"H Tokyo Accent Chair - Rose Gold with blush corduroy and cow hide print cushions 17"W x 20"L x 28"H Paris Coffee Table - Gold Frame RECLAIMED WOOD TOP 36"W x 21"W x 17"h Round Booth (2pc) 4 to be reuphoistered in channeled denim blue 688 8 10"W388 2"X 388 8 3"H Manchester Round Wood Coffee Table 54"D mahogany wood color 54" Diam x 20"H Hamptons Sofa 10"L - Blush 10"W x 34"L x 33"H Santa Fe Coffee Table - Wood 6"L x 42"W 4 72"W x 42"L x 16"H Stockholm Club Chair - Wood Frame Custom Cover in denim fabric 29"W x 25"L x 30"H Beverly Hills Accent Chair - Gold custom cover in cowhide print 26"W x 32"L x 35"H Beverly Hills Side Chair - Blush 33"W x 34"L x 35"H Arabesque Accent Table - Antique Copper Top 2 17"Diam x 21.75"H Boston Accent Table - Mahogany & Brass Frame 2 1.3W x 1.7L x 3"H London Accent Table - Antique Gold Hourglass Small 4	Madrid Bench - Gold Metal Frame with DENIM Cover 54™ x 18™ x 21™ 4 \$350.00 SAW x 18™ x 21™ 15 \$150.00 Tokyo Accent Chair - Gold Frame with blush corduroy and cow hide print cushions 17™ x 20™ x 28™ 1 \$150.00 Tokyo Accent Chair - Rose Gold with blush corduroy and cow hide print cushions 17™ x 20™ x 28™ 8 \$250.00 Paris Coffee Table - Gold Frame RECLAIMED WOOD TOP 36™ x 21™ x 17™ h 8 \$250.00 RECLAIMED WOOD TOP 36™ x 21™ x 17™ h 4 \$1,850.00 Manchester Round Wood Coffee Table 54™ mahogany wood color 54™ Diam x 20™ h 4 \$350.00 54™ Diam x 20™ h 4 \$650.00 10™ x 34™ L x 33™ h 4 \$650.00 10™ x 34™ L x 33™ h 4 \$450.00 20™ x 22™ x 16™ h 5 \$425.00 20™ x 25™ L x 30™ h 6 \$425.00 Beverly Hills Accent Chair - Gold custom cover in cowhide print 26™ x 35™ h 4 \$150.00 Beverly Hills Side Chair - Blush 33™ x 34™ x 35™ h 4 \$150.00 Arabesque Accent Table - Antique Copper Top 17™ Diam x 21.75™ h 2 \$115.00 Boston Accent Table - Mahogany & Brass Frame 1.3™ x 1.7L x 3H	Madrid Bench - Gold Metal Frame with DENIM Cover 54'W L18'L x 21'H 4 \$350.00 T 54'W L18'L x 21'H 54'W L18'L x 21'H 5150.00 T Tokyo Accent Chair - Gold Frame with blush cordurory and cow hide print cushions 17'W x 20'L x 28'H 1 \$150.00 T Paris Coffee Table - Gold Frame RECLAIMED Wood Top 36'W x 21'W x 17'h 8 \$250.00 T Round Booth (2pc) to be reupholstered in channeled denim blue 66th £1 10'W36 £2 x 38'B ± 3'H 4 \$1,850.00 T Manchester Round Wood Coffee Table 54'D mahogany wood color 54' Diam x 20'H 4 \$350.00 T Hamptons Sofa 10'L - Blush 10'W x 34'L x 33'H 4 \$650.00 T Santa Fe Coffee Table - Wood 6'L x 42'W 4 \$450.00 T 72'Wx x 2'L x 16'H \$10'W x 34'L x 30'H \$450.00 T Beverly Hills Accent Chair - Gold custom Cover in denim fabric 29'W x 25'L x 30'H \$150.00 T Beverly Hills Side Chair - Blush 33'W x 34'L x 35'H 4 \$150.00 T Beverly Hills Side Chair - Blush 33'W x 34'L x 35'H 4 \$150.00 T London Accent Table - Antique Copper Top 1.7'Diam x 21.75'H 2 \$115.00

Description		Qtty	Price		Total
	Florence Console Table - Wood 6'L	2	\$250.00	T	\$500.00
	71"W X 16"L X 31"H - It can be painted with a whitewash finish	1			
	Accent Pillows	80	\$45.00	Т	\$3,600.00
	mix of blush, off white, denim, leather, cow hide print etc				
	Ottoman Pod 18"D mix of blush, off white, denim, leather, cow hide print etc 18"RND x 17"H - Cover Color Upon Request	26	\$85.00	T	\$2,210.00
	Ottomans - Gold Cowhide 16"W x 16"L x 16"H	4	\$85.00	Т	\$340.00
	Ottomans - Santa Fe Animal Print Natural 20"W x 20"L x 14"H	4	\$85.00	T	\$340.00
	Assorted Floor Rugs & Cow Hides	33	\$275.00	Т	\$9,075.00
	Dresden Dining Chair - Denim	42	\$15.00	Т	\$630.00
	22"W x 25"L x 37"H				
	Oslo Bistro Table Brass w. Reclaimed Wood Top 39.5"Diam x 29.5"H	6	\$550.00	Т	\$3,300.00
	Neon Plexi-Glass Cacti (8) Small (8) Medium (8) Large	24	\$425.00	Т	\$10,200.00
	Neon Butterflies for Decor Walls 8"H and 14"H sizes mixed to create neon wall art	60	\$384.00	Т	\$23,040.00
		Total After Party	- Red Rock Ballro	om	\$434,305.00
Production (MV	/PC) Needs				
	Shelving Unit Cubbie - White 58"W x 58"H (16) slots 58"W x 16"L x 58"H - 13" X 13" X 16" FOR EACH CUBE - Custor	6 n Color	\$250.00	Т	\$1,500.00
	Upon Request	Total Produc	ction (MWPC) Ne	ode	\$1,500.00
Services		Total Floud	Zaon (WWF O) Ne	cus	Ψ1,300.00
	Balance Moved Credit Moved to Additionals Invoice	1	\$18,145.00		\$18,145.00
	(R) Installers: Drive to Las Vegas September 14th, Tuesday	12	\$550.00		\$6,600.00
	(R) Installers: Install on 15th, Wednesday Unload Semi, Organize and build framework	12	\$650.00		\$7,800.00
	(R) Installers: Install on 16th Thursday	12	\$650.00		\$7,800.00

Description		Qtty	Price	Total
	(R) Installers: Install on 17th Friday Ceremony Ballroom Perimeter	12	\$650.00	\$7,800.00
	(R) Installers: Install on 18th Saturday Cocktails Ballroom / Organize New Load Deliveries	12	\$650.00	\$7,800.00
	(R) Installers: Install on 19th Sunday Install Reception and After Party Perimeter	12	\$650.00	\$7,800.00
	(R) Installers: Install on 20th Monday Install Reception and After Party Perimeter	12	\$650.00	\$7,800.00
	(R) Installers: Install on 21st Tuesday Install at the Fertitta residence and continue in after party and reception	12	\$650.00	\$7,800.00
	(R) Installers: Install on 22nd Wednesday Install in all Areas	12	\$650.00	\$7,800.00
	(R) Installers: Install on 23rd Thursday Install All Areas	12	\$650.00	\$7,800.00
	(R) Installers: Install on 24th Friday Install All Areas; Reception Tables set by PM	12	\$650.00	\$7,800.00
	(R) Installers: Install on 25th Saturday Install All Areas; finished by 4PM	12	\$650.00	\$7,800.00
	(R) Installers: Stand By on 25th Saturday	4	\$350.00	\$1,400.00
	(R) Installers: Strike on 26th Sunday Strike all furniture	12	\$650.00	\$7,800.00
	(R) Installers: Strike on 27th Monday Strike Continues	8	\$650.00	\$5,200.00
	(R) Installers: Drive to Los Angeles September 27th, Monday (4) Installers Drive to LA	4	\$450.00	\$1,800.00
	(R) Installers: Drive to Los Angeles September 28th, Tuesday (8) Installers Drive to LA	8	\$450.00	\$3,600.00
	(R) Accommodations: Crew Perdiem Group A for (15) Days	8	\$915.00	\$7,320.00
	(R) Accommodations: Crew Perdiem Group B for (14) Days	4	\$854.00	\$3,416.00
	(R) Trucking: 53'L Semi Round Trip (Trailer NOT to stay onsite)	9	\$6,500.00	\$58,500.00
	(R) Trucking: 53'L Semi Round Trip (Trailer TO STAY onsite) parking at Red Rock	2	\$8,000.00	\$16,000.00
	(R) Trucking: 16'L Truck (2) Week Rental To transport from the semi to the upper parking garage storage area	4	\$2,800.00	\$11,200.00
	(R) Trucking: Rental Car (2) Week Rental Transport from hotel to house, errands, etc	5	\$2,800.00	\$14,000.00
	(R) Manager: Travel Days Round Trip Driving	3	\$1,500.00	\$4,500.00
	(R) Manager: Onsite for (15) Days	1	\$11,250.00	\$11,250.00
	(R) Manager: Onsite for (7) Days	2	\$6,000.00	\$12,000.00

Description		Qtty	Price	Total
	(R) Manager: Perdiem for (15) Days	1	\$915.00	\$915.00
	(R) Manager: Perdiem for (7) Days	2	\$427.00	\$854.00
	(R) Additional Labor: Install & Strike for (6) Days	8	\$3,900.00	\$31,200.00
	(R) Additional Labor: Travel Days Round trip	8	\$700.00	\$5,600.00
	(R) Additional Labor: Perdiem for (6) Days	8	\$366.00	\$2,928.00
	(R) Helpers: Details, Crystal Work, Cleaning for (5) Days	4	\$3,250.00	\$13,000.00
	(R) Helpers: Travel Days Round Trip	4	\$700.00	\$2,800.00
	(R) Helpers: Perdiem for (5) Days	4	\$305.00	\$1,220.00
	(R) Certification: Flame Proofing Fabric	1	\$15,000.00	\$15,000.00
	(R) Certification: Flame Proofing Materials	1	\$25,000.00	\$25,000.00
	(R) Pre-production: Design & Meetings Layouts, Meetings, Design Boards, Materials allocation, Fire Marshal Adjustments, Presentations etc	1	\$25,000.00	\$25,000.00
	(R) Pre-production: Travel to Las Vegas Round Trip Flights	4	\$500.00	\$2,000.00
	(R) Supplies: Rush Fees for Pre Production	1	\$45,000.00	\$45,000.00
	(R) Supplies: Misc pipe and base, packing materials, paint, etc	1	\$20,000.00	\$20,000.00
	(R) Supplies: Wood Arch Materials for Exits Creating a curved archway at (4) perimeter ballroom doors for guests exit and emergency exit.	1	\$14,400.00	\$14,400.00
	(R) Supplies: Wooden Materials to Create Stretched Fabric for Summerlin Ballroom	1	\$6,000.00	\$6,000.00
	(R) Overseas Shipping Costs for crystals and pearls; cost estimated	1	\$102,000.00	\$102,000.00
	Subrental: Labor for Draping Hallways	1	\$75,000.00	\$75,000.00
	Subrental: Hardware and Supplies for draping all hallways etc	1	\$19,000.00	\$19,000.00
	Subrental: Trucking Round Trip for draping all hallways etc	1	\$12,000.00	\$12,000.00
	Dance Floor: Delivery & Labor	1	\$4,800.00	\$4,800.00
	Dance Floor: Trucking	1	\$6,500.00	\$6,500.00
	Prop Builder: Onsite Installation & Strike	1	\$140,000.00	\$140,000.00
	Prop Builder: Crew Perdiem Details TBD	1	\$13,075.00	\$13,075.00

Description		Qtty	Price	Total
	Prop Builder: Transportation / Trucking Details TBD	1	\$36,000.00	\$36,000.00
	Neon: Installation & Strike	1	\$5,000.00	\$5,000.00
	Details: Artist for hand painting details etc	1	\$3,500.00	\$3,500.00
Please make checks payable to Revelry, Inc.			Total Products:	\$2,758,872.50
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Total La	bor/Services/Misc:	\$896,323.00
			Wear & Tear (0%):	\$0.00
	•		Packing (0%):	\$0.00
Notes		Ta	exes (tax excempt):	\$0.00
			Discounts:	(\$6,000.00)
			Total:	\$3,649,195.50
			Payments:	(\$3,649,195.50)
			Balance:	\$0.00